The Golden Trinity - Optimality, Inequality and Identity -

Seiichi IWAMOTO

Department of Economic Engineering Graduate School of Economics, Kyushu University 27 Fukuoka 812-8581, Japan

tel&fax. +81(92)642-2488, email: iwamoto@en.kyushu-u.ac.jp

Abstract

This paper considers a triplet of optimization, inequality and identity through the Golden ratio. When a conditional optimization problem which optimizes an objective function under a constraint function yields a pair of optimum value and optimum point, an inequality holds between the objective function and the constraint function. Conversely, if an inequality holds between two functions together with an equality condition, we can easily solve the optimization problem by applying the inequality and the equality condition. Thus an optimization is equivalent to an inequality. Further an inequality between two functions is equivalently stated as an identity form by adding a supplementary nonnegative term. Conversely, an identity between two functions involving an additional nonnegative term is stated in an inequality form without the nonnegative term. Thus an inequality is also equivalent to an identity. Therefore, the triplet is equivalent each other. In this sense, we call an equivalent triplet *trinity*.

Furthermore, we introduce the Golden ratio into trinity – Golden optimum solution, Golden inequality, and Golden identity –. Such a trinity is called *Golden*. In a class of quadratic functions, we specify six Golden trinities on the basis of three quadratic forms : $x^2 + y^2$, $x^2 - y^2$, $x^2 + (x - y)^2$. The triplet is called the *Golden* triplet of quadratic forms.

1 Introduction

It is well known that a cetain optimization problem is easily solved through application of an inequality involving both objective function and constraint function in optimization problem. Conversely a cetain inequality is proved by finding an optimal solution – a pair of optimum value and optimum point –. In general, an inequality together with an equality condition is stated as an equivalent identity involving a nonnegative term. Thus a certain triplet of optimization problem, inequality and identity turns out to be equivalent. Throughout the paper we call a triplet of optimization, inequality and identity *trinity* if they are equivalent each other. If an optimum solution is Golden, we call it Golden optimum solution. We transliterate the Golden optimum solution both as Golden inequality and as Golden identity. Then the trinity is called *Golden*. In a class of quadratic functions, we specify six Golden trinities both in two-variable problems and in one-variable problems.



Figure 1 The Golden Trinity

2 Trinity

We take (i) optimization, (ii) inequality and (iii) identity as three expression forms. Let two two-variable functions $f, g: D \to R^1$ be given, where $D \subset R^2$. Then we consider the following triplet each of which is associated with two real constants α , β .

(i) An optimization problem

has the optimum value $M = \beta$ at the point $(x^*, y^*) = \lambda(1, \alpha)$, namely, with the slope $\frac{y^*}{x^*} = \alpha$, where λ is a real number satisfying (i). (1)

(ii) It holds that

$$f(x,y) \leq (\geq) \beta g(x,y)$$
 on D . (2)

The sign of equality holds if and only if $y = \alpha x$. (iii) It holds that

$$f(x,y) + h(\alpha x, y) = \beta g(x,y), \quad h(x,y) \ge (\le) \quad \text{on } D.$$
(3)

Lemma 2.1 The triplet (1)-(2)-(3) is equivalent each other.

In this paper we call an equivalent triplet *trinity*. Let us take a basic standard real number

$$\phi = \frac{1+\sqrt{5}}{2} \approx 1.61803$$

The number ϕ is called the *Golden ratio*. ϕ is defined as the positive solution of quadratic equation

$$x^2 - x - 1 = 0.$$

We say that a pair (α, β) constitutes the Golden ratio if

$$\left|\frac{\beta}{\alpha}\right| = \phi \quad \text{or} \quad \left|\frac{\alpha}{\beta}\right| = \phi.$$

When the pair constitutes the Golden ratio, we say that the trinity (1)-(2)-(3) is Golden. In the case, we say as follows.

- MA₁ has a Golden optimum solution M, (x^*, y^*) .
- The inequality (2) is Golden.
- The identity (3) is Golden.

2.1 Cauchy-Schwarz

Let us take $f(x,y) = (ax + by)^2$, $g(x,y) = x^2 + y^2$, where $a (\neq 0)$, b are real constants. Then we have the following trinity (4)-(5)-(6).

(i) An optimization problem

Maximize $(ax + by)^2$ MA₂ subject to (i) $x^2 + y^2 = 1$ (ii) $-\infty < x, y < \infty$ has the maximum value $M = (a^2 + b^2)$ at the point $(x^*, y^*) = \pm \frac{1}{\sqrt{a^2 + b^2}}(a, b)$,

namely, with the slope
$$\frac{y^*}{x^*} = \frac{b}{a}$$
. (4)

(ii) It holds that

 $(ax + by)^2 \le (a^2 + b^2)(x^2 + y^2)$ on R^2 . (5)

The sign of equality holds if and only if ay = bx. (iii) The Lagrange identity ([1, p.3,p.60]) holds.

$$(ax + by)^2 + (bx - ay)^2 = (a^2 + b^2)(x^2 + y^2)$$
 on R^2 . (6)

We note that $(bx - ay)^2 = a^2 \left(\frac{b}{a}x - y\right)^2$. Thus we have

$$\alpha = \frac{b}{a}, \quad \beta = a^2 + b^2, \quad h(x,y) = a^2(x-y)^2.$$

When α and β constitute the Golden ratio, the trinity becomes Golden.

2.2 Minkowski

Second we set $f(x, y) = (a + x)^2 + (b + y)^2$, $g(x, y) = x^2 + y^2$, where $a \neq 0$, b are real constants. Then we have trinity (7)-(8)-(9) as follows.

(i) A maximization problem

Maximize
$$(a + x)^2 + (b + y)^2$$

MA₃ subject to (i) $x^2 + y^2 = 1$
(ii) $-\infty < x, y < \infty$

has the maximum value $M = (\sqrt{a^2 + b^2} + 1)^2$ at the point $(x^*, y^*) = \pm \frac{1}{\sqrt{a^2 + b^2}}(a, b)$, namely, with the slope $\frac{y^*}{x^*} = \frac{b}{a}$. (7)

(ii) It holds that

$$\sqrt{(a+x)^2 + (b+y)^2} \le \sqrt{a^2 + b^2} + \sqrt{x^2 + y^2}$$
 on R^2 . (8)

The sign of equality holds if and only if ay = bx. (iii) It holds that

$$\sqrt{(a+x)^2 + (b+y)^2} + H(x,y) = \sqrt{a^2 + b^2} + \sqrt{x^2 + y^2}$$
 on R^2 (9)

where

$$=\frac{H(x,y)}{(\sqrt{a^2+b^2}+\sqrt{x^2+y^2}+\sqrt{(a+x)^2+(b+y)^2})(\sqrt{a^2+b^2}\sqrt{x^2+y^2}+ax+by)}.$$

2.3 Trinity for one-variable functions

Let two one-variable functions $f, g: E \to R^1$ be given, where $E \subset R^1$. We assume that g(u) > 0 on E.

(i) A fractional optimization problem

MA₄ Optimize
$$\frac{f(u)}{g(u)}$$

subject to (i) $u \in E$

has the optimum value $M = \beta$ at the point $u^* = \alpha$.

(ii) It holds that

$$f(u) \leq (\geq) \beta g(u)$$
 on E . (11)

The sign of equality holds if and only if $u = \alpha$. (iii) It holds that

$$f(u) + h(u) = \beta g(u), \quad h(u) \ge (\le) \ 0 \quad \text{on } E, \quad h(\alpha) = 0.$$
 (12)

Lemma 2.2 The triplet (10)-(11)-(12) is equivalent each other.

An equivalent triplet is called *trinity*. When α and β constitute the Golden ratio, we say that the trinity (10)-(11)-(12) is *Golden*. In the case, we say as follows.

- MA₄ has a Golden optimum solution M, u^* .
- The inequality (11) is Golden.
- The identity (12) is Golden.

For instance we have the Golden trinity (13)-(14)-(15) as follows.

(i) A fractional optimization problem

Maximize
$$\frac{1+u^2}{1+(u-1)^2}$$

subject to (i) $-\infty < u < \infty$

has the maximum value $M = 1 + \phi$ at the point $u^* = \phi$.

(ii) It holds that

$$1 + u^2 \leq (1 + \phi) \{ 1 + (u - 1)^2 \}$$
 on R^1 . (14)

The sign of equality holds if and only if $u = \phi$. (iii) It holds that

$$1 + u^{2} + \phi(\phi - u)^{2} = (1 + \phi)\{1 + (u - 1)^{2}\}.$$
(15)

(10)

(13)

3 Non-Golden and Golden

This section illustrates a non-Golden trinity and a Golden trinity for simple two-variable quadratic forms.

3.1 Non-Golden Trinity

First of all, let us take two quadratic forms f(x, y) = xy, $g(x, y) = x^2 + y^2$. Then we have trinity (16)-(17)-(18) as follows.

(i) The maximization problem

Maximize xyMA₅ Subject to (i) $x^2 + y^2 = 1$ (ii) $-\infty < x, y < \infty$.

has the maximum value $M = \frac{1}{2}$ at the points $(x^*, y^*) = \pm \frac{1}{\sqrt{2}}(1, 1)$, namely, with the (16)

slope $\frac{y^*}{x^*} = 1$. (ii) It holds that

$$xy \leq \frac{1}{2}(x^2 + y^2)$$
 on R^2 . (17)

The sign of equality holds if and only if y = x. (iii) It holds that

$$xy + \frac{1}{2}(x-y)^2 = \frac{1}{2}(x^2+y^2)$$
 on R^2 . (18)

This is not Golden:

$$lpha = 1, \quad eta = rac{1}{2}, \quad h(x,y) = rac{1}{2}(x-y)^2$$

Then we call trinity (16)-(17)-(18) non-Golden.

3.2 Golden Trinity

Second we take another pair of quadratic forms $f(x, y) = x^2 + y^2$, $g(x, y) = x^2 + (y - x)^2$. Then we have the following trinity.

(i) The maximization problem

Maximize
$$x^2 + y^2$$

MA₆ subject to (i) $x^2 + (y - x)^2 = 1$
(ii) $-\infty < x, y < \infty$

has the maximum value $M = 1 + \phi$ at the maximum points $(x^*, y^*) = \pm \lambda(1, \phi)$, namely, with the slope $\frac{y^*}{x^*} = \phi$, where $\lambda = \frac{1}{\sqrt{3-\phi}}$. (19)

(ii) It holds that

$$x^{2} + y^{2} \le (1 + \phi) \{ x^{2} + (y - x)^{2} \}$$
 on R^{2} . (20)

The sign of equality holds if and only if $y = \phi x$. (iii) It holds that

$$x^{2} + y^{2} + \phi(\phi x - y)^{2} = (1 + \phi)\{x^{2} + (y - x)^{2}\}$$
 on R^{2} . (21)

Further we see that both ϕ and $1 + \phi$ constitute the Golden ratio:

$$\frac{1+\phi}{\phi} = \phi.$$

Thus we have a Golden trinity.

4 The Golden Optimum Solutions

This section shows six optimization problems whose optimum solution is Golden.

4.1 Two-variable problems

First we consider two-variable quadratic optimization problems.

(i) Now we take the maximization and minimization problem

TP₁
Maximize and minimize
$$x^2 + y^2$$

subject to (i) $x^2 + (y - x)^2 = 1$
(ii) $-\infty < x, y < \infty$.

Then TP₁ has the maximum value $M = 1 + \phi$ at the points $(x^*, y^*) = \pm \frac{1}{\sqrt{3-\phi}} (1, \phi)$ and the minimum value $m = 2 - \phi$ at the points $(\hat{x}, \hat{y}) = \pm \frac{1}{\sqrt{2+\phi}} (1, 1-\phi)$.

(ii) We consider the maximization and minimization problem

TP₂
Maximize and minimize
$$-x^2 + y^2$$

subject to (i) $x^2 + (y - x)^2 = 1$
(ii) $-\infty < x, y < \infty$.

Then TP₂ has the maximum value $M = \phi$ at the points $(x^*, y^*) = \pm \frac{1}{\sqrt{2+\phi}} (1, 1+\phi)$ and the minimum value $m = 1 - \phi$ at the points $(\hat{x}, \hat{y}) = \pm \frac{1}{\sqrt{3-\phi}} (1, 2-\phi)$.

(iii) Let us now consider the maximization problem

TP₃
Maximize
$$-y^2 - (y - x)^2$$

subject to (i) $-x^2 + y^2 = 1$
(ii) $-\infty < x, y < \infty$.

Then TP₃ has the maximum value $M = -\phi$ at the points $(x^*, y^*) = \pm \frac{1}{\sqrt{1+3\phi}} (1, 1+\phi)$.

(iv) Let us consider the related minimization problem

TP₄
minimize
$$y^2 + (y - x)^2$$

subject to (i) $x^2 - y^2 = 1$
(ii) $-\infty < x, y < \infty$.

Then TP₄ has the minimum value $m = -1 + \phi$ at the points $(\hat{x}, \hat{y}) = \pm \frac{1}{\sqrt{-4 + 3\phi}} (1, 2 - \phi)$.

4.2 One-variable problems

Second we consider one-variable quadratic-fractional optimization problems.

(i) Now we take the maximization and minimization problem

OP₁
Maximize and minimize
$$\frac{1+u^2}{1+(u-1)^2}$$

subject to (i) $-\infty < u < \infty$.

Then OP₁ has the maximum value $M = 1 + \phi$ at the point $u^* = \phi$ and the minimum value $m = 2 - \phi$ at the point $\hat{u} = 1 - \phi$.

(ii) We consider the maximization and minimization problem

OP₂
Maximize and minimize
$$\frac{-1+v^2}{1+(v-1)^2}$$

subject to (i) $-\infty < v < \infty$.

Then OP₂ has the maximum value $M = \phi$ at the point $v^* = 1 + \phi$ and the minimum value $m = 1 - \phi$ at the point $\hat{v} = 2 - \phi$.

(iii) Let us now consider the maximization problem

OP₃
Maximize
$$\frac{u^2 + (1-u)^2}{1-u^2}$$
subject to (i) $|u| > 1$.

Then OP₃ has the maximum value $M = -\phi$ at the point $u^* = 1 + \phi$.

(iv) Let us consider the corresponding minimization problem

OP₄
minimize
$$\frac{u^2 + (1-u)^2}{1-u^2}$$

subject to (i) $-1 < u < 1$.

Then OP₄ has the minimum value $m = -1 + \phi$ at the point $\hat{u} = 2 - \phi$.

5 The Golden Inequalities

This section shows six Golden inequalities both in two-variable functions and in one-variable functions.

5.1 Two-variable functions

First we consider Golden inequalities between two-variable quadratic functions $f, g : \mathbb{R}^2 \to \mathbb{R}^1$. Each of (22) and (23) yields a pair of Golden inequalities. Both (24) and (25) constitute a pair of Golden inequalities. Thus we have six Golden inequalities in the following.

Theorem 5.1 (i) It holds that

$$(2-\phi)\{x^2+(y-x)^2\} \le x^2+y^2 \le (1+\phi)\{x^2+(y-x)^2\}$$
 on R^2 . (22)

The sign of gleft equality holds if and only if $y = (1 - \phi)x$ and the sign of right equality holds if and only if $y = \phi x$.

(ii) It holds that

$$(1-\phi)\{x^2+(y-x)^2\} \le -x^2+y^2 \le \phi\{x^2+(y-x)^2\}$$
 on R^2 . (23)

The sign of left equality holds if and only if $y = (2 - \phi)x$ and the sign of right equality holds if and only if $y = (1 + \phi)x$.

(iii) The middle-right inequality (resp. left-middle) in (22) is equivalent to the left-middle (resp. middle-right) inequality in (23).

Theorem 5.2 (i) It holds that

$$(-1+\phi)(x^2-y^2) \le y^2 + (y-x)^2$$
 on R^2 . (24)

The sign of equality holds if and only if $y = (2 - \phi)x$. It holds that

$$-y^{2} - (y - x)^{2} \ge \phi(x^{2} - y^{2}) \quad \text{on} \quad R^{2}.$$
 (25)

The sign of equality holds if and only if $y = (1 + \phi)x$.

(ii) The inequality (24) is equivalent to the middle-right inequality in (23). The inequality (25) is equivalent to the left-middle inequality in (23).

5.2 One-variable functions

Second we consider six Golden inequalities between two one-variable functions $f, g: \mathbb{R}^1 \to \mathbb{R}^1$. The inequalities (26) and (27) are pairs of Golden inequalities. The inequalities (28) and (29) are Golden. Thus we have also six Golden inequalities in the following.

Lemma 5.1 (i) It holds that

$$(2-\phi)\{1+(u-1)^2\} \le 1+u^2 \le (1+\phi)\{1+(u-1)^2\}$$
 on R^1 . (26)

The sign of left equality holds if and only if $u = 1 - \phi$ and the sign of right equality holds if and only if $u = \phi$ (Figure 2).

(ii) It holds that

$$(1-\phi)\{1+(v-1)^2\} \le -1+v^2 \le \phi\{1+(v-1)^2\}$$
 on R^1 . (27)

The sign of left equality holds if and only if $v = 2 - \phi$ and the sign of right equality holds if and only if $v = 1 + \phi$.

(iii) The middle-right inequality (resp. left-middle) in (26) is equivalent to the left-middle (resp. middle-right) inequality in (27).

Lemma 5.2 (i) It holds that

$$(-1+\phi)(1-u^2) \le u^2 + (u-1)^2$$
 on R^1 (28)

The sign of equality holds if and only if $u = 2 - \phi$. It holds that

$$-u^2 - (u-1)^2 \le \phi(1-u^2) \quad \text{on} \quad R^1$$
(29)

The sign of equality holds if and only if $u = 1 + \phi$.

(ii) The inequality (28) is equivalent to the middle-right inequality in (27). The inequality (29) is equivalent to the left-middle inequality in (27).





6 The Golden Identities

This section shows six Golden identities both in two-variable and in one-variable.

6.1 Two-variable quadratic functions

We have six Golden identities between three quadratic forms.

Theorem 6.1 (i) It holds that

$$x^{2} + y^{2} + \phi(\phi x - y)^{2} = (1 + \phi) \{x^{2} + (y - x)^{2}\}$$
(30)

$$(2-\phi)\{x^2+(y-x)^2\}+(\phi-1)\{(1-\phi)x-y\}^2=x^2+y^2.$$
 (31)

(ii) It holds that

$$-x^{2} + y^{2} + (\phi - 1)\{(1 + \phi)x - y\}^{2} = \phi\{x^{2} + (y - x)^{2}\}$$
(32)

$$(1-\phi)\{x^2+(y-x)^2\}+\phi\{(2-\phi)x-y\}^2=-x^2+y^2.$$
(33)

(iii) The identity (30) (resp. (31)) is equivalent to the identity (33) (resp. (32)).

Theorem 6.2 (i) It holds that

$$(-1+\phi)(x^2-y^2) + (1+\phi)\{(2-\phi)x-y\}^2 = y^2 + (y-x)^2$$
(34)

$$-\{y^2 + (y-x)^2\} + (2-\phi)\{(1+\phi)x - y\}^2 = \phi(x^2 - y^2).$$
(35)

(ii) The identity (34) (resp. (35)) is equivalent to the identity (33) (resp. (32)).

6.2 One-variable quadratic functions

We have the corresponding Golden identities between one-variable quadratic functions. Theorem 6.3 (i) It holds that

$$1 + u^{2} + \phi(\phi - u)^{2} = (1 + \phi)\{1 + (u - 1)^{2}\}$$
(36)

$$(2-\phi)\{1+(u-1)^2\}+(\phi-1)(1-\phi-u)^2=1+u^2.$$
(37)

(ii) It holds that

$$-1 + v^{2} + (\phi - 1)(1 + \phi - v)^{2} = \phi\{1 + (v - 1)^{2}\}$$
(38)

$$(1-\phi)\{1+(v-1)^2\}+\phi(2-\phi-v)^2=-1+v^2.$$
(39)

(iii) The identity (36) (resp. (37)) is equivalent to the identity (39) (resp. (38)).
Theorem 6.4 (i) It holds that

$$(-1+\phi)(1-u^2) + (1+\phi)(2-\phi-u)^2 = u^2 + (u-1)^2$$
(40)

$$-\{u^2 + (u-1)^2\} + (2-\phi)(1+\phi-u)^2 = \phi(1-u^2).$$
(41)

(ii) The identity (40) (resp. (41)) is equivalent to the identity (39) (resp. (38)).

7 The Golden Trinities

As a summary, we enumerate six Golden trinities both in two-variable and in one-variable.

7.1 Two-variable functions

1. Maximum solution in TP_1 – Right-middle inequality (22) – Identity (30) This Golden trinity is stated in (19)-(20)-(21).

2. Minimum solution in TP_1 – Left-middle inequality (22) – Identity (31)

3. Maximum solution in TP_2 – Right-middle inequality (23) – Identity (32)

4. Minimum solution in TP_2 – Left-middle inequality (23) – Identity (33)

5. Maximum solution in TP_3 – Inequality (24) – Identity (34)

6. Minimum solution in TP_4 – Inequality (25) – Identity (35)

7.2 One-variable functions

1. Maximum solution in OP_1 – Right-middle inequality (26) – Identity (36) This Golden trinity is stated in (13)-(14)-(15).

- 2. Minimum solution in OP_1 Left-middle inequality (26) Identity (37)
- 3. Maximum solution in OP_2 Right-middle inequality (27) Identity (38)
- 4. Minimum solution in OP_2 Left-middle inequality (27) Identity (39)

5. Maximum solution in OP_3 – Inequality (28) – Identity (40)

6. Minimum solution in OP_4 – Inequality (29) – Identity (41)

References

- [1] E.F. Beckenbach and R.E. Bellman, *Inequalities*, Springer-Verlag, Ergebnisse **30**, 1961.
- [2] R.E. Bellman, Introduction to Matrix Analysis, McGraw-Hill, New York, NY, 1970 (Second Edition is a SIAM edition 1997).

- [3] A. Beutelspacher and B. Petri, 黄金分割 自然と数理と芸術と (柳井浩訳), 共立 出版, 2005; (Original) Der Goldene Schnitt 2., überarbeitete und erweiterte Auflange, ELSEVIER GmbH, Spectrum Akademischer Verlag, Heidelberg, 1996.
- [4] S. Iwamoto, Inverse theorem in dynamic programming I, II, III, J. Math. Anal. Appl. 58(1977), 113-134, 247-279, 439-448.
- [5] S. Iwamoto, Dynamic programming approach to inequalities, J. Math. Anal. Appl. 58(1977), 687-704.
- [6] S. Iwamoto, Reverse function, reverse program and reverse theorem in mathematical programming, J. Math. Anal. Appl. **95**(1983), 1–19.
- [7] S. Iwamoto, Theory of Dynamic Program, Kyushu Univ. Press, Fukuoka, 1987 (in Japanese).
- [8] 岩本 誠一,動的計画と不等式について,研究集会「作用素論とその周辺」,京大数理 研講究録 653, 1988 年 4 月, pp.109-129.
- [9] S. Iwamoto, 黄金最適解の交差双対, 研究集会「経済の数理解析」, 京大数理研講究録 1443, 2005 年 7 月, pp. 27–43.
- [10] S. Iwamoto, The Golden optimum solution in quadratic programming, Ed. W. Takahashi and T. Tanaka, Proceedings of The Fourth International Conference on Nonlinear Analysis and Convex Analysis (NACA05), under submission.
- S. Iwamoto, R.J. Tomkins and C.-L. Wang, Some theorems on reverse inequalities, J. Math. Anal. Appl. 119(1986), 282-299.
- [12] S. Iwamoto and M. Yasuda, "Dynamic programming creates the Golden Ratio, too," Proc. of the Sixth Intl Conference on Optimization: Techniques and Applications (ICOTA 2004), Ballarat, Australia, December 9-11, 2004.
- [13] H. Walser, 黄金分割 (蟹江幸博訳), 日本評論社, 2002; (Original) DER GOLDENE SCHNITT, B.G. Teubner, Leibzig, 1996.